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Piston Displacement Lesson 1 Worksheet Name S i f,{/k’
o

Solve the following using the cubic inch displacement formula or volume of a cylinder formula.
Show work and use appropriate units,

1. A V-6 cngine block has a bore of 4 inches, a stroke ol 3 inches. Calculate the cubic inch
displacement. o 1
CxD=.1859 x 80(‘(.2 X, SH‘ObL X #lema(ﬂrs
CID=.I8EH X UEx 3 X
CID = L1854 x Hex 3 x(o
| Cain = 226\

e

2. A V-4 ¢ngine block has a bore of 3 inches, a stroke of 3.25 inches. Calculate the cubic inch
displacement.

CIp =. 1554 x 3% % 3.25xY
cIn = 185H X9 x 3.25 x4

[T = 92\

3. A 4-cylinder engine block has a bore of 4.03 inches, a stroke of 3.75 inches. Calculate the cubic

inch displacement. 1

OID 2,785 % 4.03°x 3715 x Y ﬁj fgo?f“f:m{?
CID = T35 x 16, a0 * 3.1544 Boocl, Lgne g

dad |l loam
cid= 91 L ity fCP(f
- B Qnaﬁ OU']'CDMQ—

4, A V-6 engine block has a bore 0f 4.03 inches, a stroke of 3.125 inches. Calculate the cubic inch
displacement.

CID = IR5Y % H.03" x 3,125 xlo |
CIO = I854 x |, 404 x 3125 xle

[QJ:D = QBC}:}

5. A 6-cylinder éngine hlock has a bore of 3.8 inches, a stroke of 3.25 inches. Calculate the cubic
inch displacement.

CID T L7584 x 3.8 x 3.25 x b
L85 x H.UY x 3,25 x (-




5
.6 A 4-cylinder engine block has a bore ol 4 inches, a strokc of 3— 3 inches. Calculate the cubic

inch displacement.

Cjb = .(85YH x (Li H) (3%') x @pnue_{‘t Lractions +o
CE0 =.,71%54 X ¢, 25% x 2,25 x4 decimals, don® roond. of€
CID =, 7854 X 15,0625 X 31625 x4
]?’:Eb Q0La\

. 1, -
7. A V-6 engine block has a bore of 4.25 inches, a stroke of 35 inches. Calculate the cubic inch

displacement.

A1n = LI85Y % H.25% X 3% (o
CIDd = 85U x 12,0025 X 3.5 xs

8. Find the volume of the cylinder

= (lV‘zL\
\/ 7510
UL

w = 44T “ '63(“’3]

Not drawn to scale

9. Find the volume ol the cylinder.
\f = el
TN V=T (25) 12
{ =R \/ 7T(/o.2,5\ 12

Mot drawn to scale

10. Find the volume of a cylinder with a radius ol 13 em and a height of 21 cm.
L eme= 2
V= et
\ = TR 2]
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T o 0o |




